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Zadatak 10.  Vrhovi trokuta ABC su tocke A(—3,—1), B(7,—6), C(5,5). Kolike su
duljine visinatog trokuta?

RjeSenje.
A(-3,-1)
B(7,—6)
C(5,5)
Va =2, W =2, V=7
546
5-7
y+6=—%(x—7) /-2
2y+12 = —11x+ 77
1Ix+2y—65=0
5+1
543

6

a =BC ...y+6=

(x=7)

b =AC ... y+1= (x+3)

3
y+1:z(x+3) /-4
dy+4=3x+9

3X—4y+5=0

—6+1
c =AB ...y+1= 713 (x+3)

1
y+1=—§(x+3) /-2
2y+2=-—x-3

X+2y+5=0

11 (-3)+2-(-1)—65 1200 100 20 V5 20V5
V121 +4 V125 5/56 5 /5 5
|3-7+(—4)-(-6)+5/ 50
v, =d(B,b) = - = —-10
B = d(B.b) /ot 16 5
Ve :d(c’c):M:&.ﬁzw =45
v1i+4 5 5 5

va =d(Aa) =45






